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B B 108 208 308 4018 508 68 BEE X1
Al E B8 R6.4.4 R6.7 1 R6.94 R6.11.19 R71417 R7.2.3 —
BROEL5NIZE R6.4.24 R6.7.12 R6.9.26 R6.11.29 R7.1.31 R7.214 —
meata{tt [pom] 2 2 <2 2 3 <2 30K
18 16 K & [ppm] <4 <4 4 4 5 <3 50U
2281t [oom] 32 28 32 26 25 22 50~
Y U A [g/mMN] <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 001K
£ K R [ueg/mN] 9 <2 <2 <2 30U
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pEl == R6.4.4 R6.7 1 R6.94 R6.11.19 R71417 R7.2.3 —
BROEL5NIZE R6.4.24 R6.7.12 R6.9.26 R6.11.29 R7.1.31 R7.214 —
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BROEL5NZH R6.4.24 R6.7.23 R6.9.26 R6.1217 R7.213 R7.2.25 —
S1AFIVHE [ng-TEQ/MN] 0.000018 0.000029 0.000022 0.00000076 0.000014 0.00043 0.05MK~
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B B 108 208 308 4018 508 68 BEE X1
pEl == R6.4.4 R6.7 1 R6.954 R6.11.19 R71417 R7.2.3 —
BROEL5GNZH R6.4.24 R6.7.23 R6.9.26 R6.1217 R7.213 R7.2.25 —
S1AFIVEE [ng-TEQ/MN] 0.000048 0.000017 0.000018 0.00000096 0.000049 0.000048 0.05M~
=5 BEEIECBRRRE12UBRBEEERT, X1 BEBR NREREHBEE] OFFHLEEEERT,
3. BHAW (FR) . ECARPOI A AF I VEBAERE (B=THBICKDEIE)
B H 1@8 208 OB (18YP) |[smBEeskE. £LAN 408 HEE X2
pEl == R6.4.4 R6.7 1 R.6.9.20 R6.10.2 R7.2.3 —
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54 A3 BRI (F 1%%? 0.0023 0.0020 0.000036 - 0.0018 SIS
[he-TEQ/ & ] N PO 25P 0.00070 0.0013 - 0.0029 0.0015
ELCAMN 0.18 0076 - 017 0.22
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